Assignment 3
Due date: 23 April 2024

TA: j 4 & E814

1.

If b,x € R™and b # 0, then prove or disprove that 7'(x) = x + b is a matrix transformation
on R".

If A"*! =0, then prove that (I — A)™' =T+ A+ A% +-.. + A™.

Find the standard matrix A for the linear transformation 7" : R? — R3 for which

-2 ) 3 —4 —4 —6
T 3 =\ 3 |\T -2 = 6 and T -5 = | —40 |
—4 14 3 —14 ) -2
ap a2 as
Giventhat A= | a4 a5 ag |[anddet(A) = 10.Please compute the determinants for the

ary ag ag
following matrices.
a. det(—3A)
b. det((2471)T)

az ap a2
c. det ag G4 Qs
ag ay as



